VILLAGE OF LOMBARD REQUEST FOR BOARD OF TRUSTEES ACTION

For Inclusion on Board Agenda

<u>X</u>		Waiver of First Requested mmissions & Committees (Green)							
•									
TO:	PRESIDENT AND BOARD OF	TRUSTEES							
FROM:	David A. Hulseberg, Village Man	David A. Hulseberg, Village Manager Dah.							
DATE:	March 4, 2011	(B of T) Date: March 23, 2011							
TITLE:	Participation in Suburban Tree Co	onsortium							
SUBMITTED BY:	Steve Kremske, Forestry/Electrica	al/Streets Supervisor							
BACKGROUND/PO	LICY IMPLICATIONS:								
A resolution expressing purchase of parkway		n the Suburban Tree Consortium for the							
FISCAL IMPACT/FU	JNDING SOURCE								
Annual STC Member	ship Dues <u>\$575.00 2740.7</u>	<u>55780</u> 340							
Review (as necessary)): .								
Village Attorney X		Date							
Finance Director X),	Date							
Village Manager	David affeld	Date 3/11/11							

NOTE: Materials must be submitted to / approved by the Village Manager's Office by 12:00 pm, Wednesday, prior to the Agenda Distribution.

	·		
•			



Date:

March 4, 2011

To:

David A. Hulseberg, Village Manager

Through:

Carl Goldsmith, Director of Public Works

From:

Steve Kremske, Forestry/Electrical/Streets Supervisor

Subject:

Resolution to Continue to Participate in the Suburban Tree Consortium

On August 4, 1988, the Village Board approved participation in the Suburban Tree Consortium. Representing 37 member communities, this organization handles the tree planting bid process in accordance with State of Illinois law. As a member, the Village must commit to a lead-time of five years for the purchase of trees grown based upon projected orders for trees.

The Suburban Tree Consortium provides top quality trees grown specifically for parkway conditions. We have received a superior product in the past and recommend a resolution expressing intent to continue to participate in the five-year contractual program. A copy of the resolution is enclosed.

Please place this item on the Village Board agenda for March 23, 2011. If you have any questions, feel free to call me.

Encl. Resolution

5-Year orders

	,		

RESOLUTION

R -11

A RESOLUTION EXPRESSING INTENT TO CONTINUE PARTICIPATION IN THE SUBURBAN TREE CONSORTIUM AND TO AUTHORIZE CERTAIN PURCHASES

WHEREAS, the Village of Lombard has heretofore joined the cooperative known as the Suburban Tree Consortium; and

WHEREAS, the Suburban Tree Consortium was created to jointly purchase parkway trees on behalf of a number of municipalities in an effort to realize cost savings and insure a reasonable supply and variety of suitable parkway trees; and

WHEREAS, Chapter 65 of ILCS 5/11-73.1-1 entitled "Municipal and Joint Municipal Tree Planting Programs", authorizes municipalities to jointly enter into long-term contracts for the purchase and delivery of trees; and

WHEREAS, due to the nature of the nursery industry and the plant materials desired by the Suburban Tree Consortium, assuring a reasonable number and variety of parkway trees at the best price is possible only with a multi-year commitment on the part of the Consortium Members, so as to allow adequate planning by the Consortium and the Nurseries/Suppliers; and

WHEREAS, the Suburban Tree Consortium member municipalities provide the Nurseries/Suppliers a projection of their parkway tree requirements for the next five years; and

WHEREAS, the Suburban Tree Consortium can realize the necessary number and variety and the best price of such parkway trees only by providing assurance to the tree Nursery/Supplier of the level of interest by the Consortium Members.

NOW THEREFORE BE IT RESOLVED BY THE PRESIDENT AND BOARD OF TRUSTEES OF THE VILLAGE OF LOMBARD, DUPAGE COUNTY, ILLINOIS, AS FOLLOWS:

SECTION 1: The Village does hereby express its intent to remain a member of the Suburban Tree Consortium and to procure parkway trees through the Consortium, "subject to sufficient annual budgeting therefore for the five year period. A summary of the Village of Lombard's anticipated five year order is attached as Exhibit "A".

SECTION 2: All ordinances and resolutions, or parts of ordinances and resolutions, in conflict with this resolution are hereby rescinded.

BE IT FURTHER RESOLVED that directed to send a copy of this Resolution to the West Central Municipal Conference Office.	
Adopted this 23 rd day of March, 2011.	
Ayes:	
Nayes:	
Absent:	
Approved this 23 rd day of March, 2011.	
	William J. Mueller
	Village President
ATTEST:	
	_
Brigitte O'Brien Village Clerk	

SUBURBAN TREE CONSORTIUM 5-YEAR ORDER

SUBURB	AN I	TREE C	CONSOR.	1 TUM 5- Y	(EAR	ORDER	
SPRING 2011 TREE SPECIES	QTY.	COST	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST
2" AUT BLAZE FREEMAN MAPLE	10	\$165.00	\$1,650.00	\$12.00	\$73.00	\$2,500.00	\$250.00
2" MIYABEI MAPLE 'STATE STREET'	10	\$182.00	\$1,820.00	\$12.00	\$73.00	\$2,670.00	\$267.00
2" MORGAN RED MAPLE	10	\$190.00	\$1,900.00	\$12.00	\$73.00	\$2,750.00	\$275.00
2" NORWEGIAN SUNSET MAPLE	10	\$182.00	\$1,820.00	\$12.00	\$73.00	\$2,670.00	\$267.00
2" AUT BRILL SERVICEBERRY	10	\$181.00	\$1,810.00	\$12.00	\$73.00	\$2,660.00	\$266.00
2" HERITAGE RIVER BIRCH	10	\$170.00	\$1,700.00	\$12.00	\$73.00	\$2,550.00	\$255.00
2" EUROPEAN HORNBEAM	10	\$179.00	\$1,790.00	\$12.00	\$73.00	\$2,640.00	\$264.00
2" AMERICAN HORNBEAM	10	\$189.00	\$1,890.00	\$12.00	\$73.00	\$2,740.00	\$274.00
2" RIVERSII EUROPEAN BEECH	10	\$205.00	\$2,050.00	\$12.00	\$73.00	\$2,900.00	\$290.00
2" BLACK TUPELO	10	\$178.00	\$1,780.00	\$12.00	\$73.00	\$2,630.00	\$263.00
2" ENGLISH OAK	10	\$177.00	\$1,770.00	\$12.00	\$73.00	\$2,620.00	\$262.00
2" IVORY SILK JAP TREE LILAC	20	\$175.00	\$3,500.00	\$12.00	\$73.00	\$5,200.00	\$260.00
2" FRONTIER ELM	10	\$165.00	\$1,650.00	\$12.00	\$73.00	\$2,500.00	\$250.00
2" ACCOLADE ELM	10	\$165.00	\$1,650.00	\$12.00	\$73.00	\$2,500.00	\$250.00
2	150		\$25,130.00			\$37,030.00	\$263.79
	150	1	0.00,100.00	7			4202
FALL 2011	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1		Contract of the second				INDIVID
TREE SPECIES	QTY.	COST	"TREES	DELIVERY	PLANT	TOTAL	TREE COST
2" HEDGE MAPLE	15	\$175.00	\$2,625.00	\$12.00	\$73.00	\$3,900.00	\$260.00
2" MIYABEI MAPLE 'STATE STREET'	10	\$175.00	\$1,750.00	\$12.00	\$73.00	\$2,600.00	\$260.00
2" 'BONFIRE' SUGAR MAPLE	15	\$190.00	\$2,850.00	\$12.00	\$73.00	\$4,125.00	\$275.00
2" PACIFIC SUNSET MAPLE	15	\$180.00	\$2,700.00	\$12.00	\$73.00	\$3,975.00	\$265.00
2" 'BRIOTTII' HORSECHESTNUT	10	\$190.00	\$1,900.00	\$12.00	\$73.00	\$2,750.00	\$275.00
2" COMMON HACKBERRY	15	\$170.00	\$2,550.00	\$12.00	\$73.00	\$3,825.00	\$255.00
2" KENTUCKY COFFEETREE	15	\$185.00	\$2,775.00	\$12.00	\$73.00	\$4,050.00	\$270.00
2" 'BEVERLY' CRABAPPLE	15	\$150.00	\$2,250.00	\$12.00	\$73.00	\$3,525.00	\$235.00
2" PRAIRIEFIRE CRABAPPLE	15	\$155.00	\$2,325.00	\$12.00	\$73.00	\$3,600.00	\$240.00
2" IVORY SILK JAP TREE LILAC	20	\$185.00	\$3,700.00	\$12.00	\$73.00	\$5,400.00	\$270.00
2" ACCOLADE ELM	15	\$175.00	\$2,625.00	\$12.00	\$73.00	\$3,900.00	\$260.00
	160		\$28,050.00			\$41,650.00	\$260.45
	1						
				-			
		1					
SPRING 2012		以	- Archen Jambertona		15-113	all the many of the	INDIVID
TREE SPECIES	QTY.	1 4 22007 20000	1 - 36 - 58 - 5 - 5 - 5 - 5 - 5 - 5 - 5 - 5 -	DELIVERY	300 300 5 853	TOTAL	TREE COS
2" AUT BLAZE FREEMAN MAPLE	10	\$165.00	\$1,650.00	\$12.00	\$75.00	\$2,520.00	\$252.00
2" MARMO FREEMAN MAPLE	10	\$165.00	\$1,650.00	\$12.00	\$75.00	\$2,520.00	\$252.00
2" PACIFIC SUNSET MAPLE	10	\$180.00	\$1,800.00	\$12.00	\$75.00	\$2,670.00	\$267.00
2" ALLEGHENY SERVICEBERRY	10	\$190.00	\$1,900.00	\$12.00	\$75.00	\$2,770.00	\$277.00
2" AUT BRILL SERVICEBERRY	10	\$190.00	\$1,900.00	\$12.00	\$75.00	\$2,770.00	\$277.00
2" EUROPEAN HORNBEAM	10	\$190.00	\$1,900.00	\$12.00	\$75.00	\$2,770.00	\$277.00
2" AMERICAN HORNBEAM	10	\$190.00	\$1,900.00	\$12.00	\$75.00	\$2,770.00	\$277.00
2" RIVERSII EUROPEAN BEECH	10	\$235.00	\$2,350.00	\$12.00	\$75.00	\$3,220.00	\$322.00
2" KENTUCKY COFFEETREE	10	\$185.00	\$1,850.00	\$12.00	\$75.00	\$2,720.00	\$272.00
2" BLACK TUPELO	10	\$190.00	\$1,900.00	\$12.00	\$75.00	\$2,770.00	\$277.00
2" IRONWOOD	10	\$190.00	\$1,900.00	\$12.00	\$75.00	\$2,770.00	\$277.00

SUBURBAN TREE CONSORTIUM 5-YEAR ORDER

SUBURB	AN	KEE C	UNSUR.	1 1 U W 3-)	LAK	OKDEK	
< 2" SWAMP WHITE OAK	10	\$185.00	\$1,850.00	\$12.00	\$75.00	\$2,720.00	\$272.00
2" IVORY SILK JAP TREE LILAC	20	\$185.00	\$3,700.00	\$12.00	\$75.00	\$5,440.00	\$272.00
2" FRONTIER ELM	10	\$180.00	\$1,800.00	\$12.00	\$75.00	\$2,670.00	\$267.00
2" ACCOLADE ELM	10	\$175.00	\$1,750.00	\$12.00	\$75.00	\$2,620.00	\$262.00
	160		\$28,150.00			\$41,200.00	\$273.33
FALL 2012	泛類的					200	INDIVID
TREE SPECIES	QTY.	COST	Ja TREES.	DELIVERY		TOTAL	TREE COST
2" MIYABEI MAPLE 'STATE STREET'	20	\$185.00	\$3,700.00	\$14.00	\$75.00	\$5,480.00	\$274.00
2" 'BONFIRE' SUGAR MAPLE	20	\$190.00	\$3,800.00	\$14.00	\$75.00	\$5,580.00	\$279.00
2" 'BRIOTTII' HORSECHESTNUT	20	\$210.00	\$4,200.00	\$14.00	\$75.00	\$5,980.00	\$299.00
2" COMMON HACKBERRY	20	\$180.00	\$3,600.00	\$14.00	\$75.00	\$5,380.00	\$269.00
2" 'RED JEWEL' CRABAPPLE	20	\$150.00	\$3,000.00	\$14.00	\$75.00	\$4,780.00	\$239.00
2" IVORY SILK JAP TREE LILAC	20	\$190.00	\$3,800.00	\$14.00	\$75.00	\$5,580.00	\$279.00
2" ACCOLADE ELM	20	\$175.00	\$3,500.00	\$14.00	\$75.00	\$5,280.00	\$264.00
	140		\$25,600.00			\$38,060.00	\$271.86
SPRING 2013 TREE SPECIES	OTV	-cost	TREES.	DELIVERY	DI ANT	TOTAL	INDIVID
	 		1	1		1000000 0000000000000000000000000000000	
2" AUT BLAZE FREEMAN MAPLE	10	\$160.00	\$1,600.00	\$14.00	\$77.00	\$2,510.00	\$251.00
2" MARMO FREEMAN MAPLE	10	\$160.00	\$1,600.00	\$14.00	\$77.00	\$2,510.00	\$251.00
2" PACIFIC SUNSET MAPLE	30	\$180.00	\$5,400.00	\$14.00	\$77.00	\$8,130.00	\$271.00
2" AUT BRILL SERVICEBERRY	10	\$200.00	\$2,000.00	\$14.00	\$77.00	\$2,910.00	\$291.00
2" EUROPEAN HORNBEAM	10	\$190.00	\$1,900.00	\$14.00	\$77.00	\$2,810.00	\$281.00
2" AMERICAN HORNBEAM	10	\$190.00	\$1,900.00	\$14.00	\$77.00	\$2,810.00	\$281.00
2" RIVERSII EUROPEAN BEECH	10	\$240.00	\$2,400.00	\$14.00	\$77.00	\$3,310.00	\$331.00
2" BLACK TUPELO	10	\$200.00	\$2,000.00	\$14.00	\$77.00	\$2,910.00	\$291.00
2" SWAMP WHITE OAK	10	\$200.00	\$2,000.00	\$14.00	\$77.00	\$2,910.00	\$291.00
2" IVORY SILK JAP TREE LILAC	20	\$190.00	\$3,800.00	\$14.00	\$77.00	\$5,620.00	\$281.00
2" FRONTIER ELM	10	\$175.00	\$1,750.00	\$14.00	\$77.00	\$2,660.00	\$266.00
2" ACCOLADE ELM	10	\$175.00	\$1,750.00	\$14.00	\$77.00	\$2,660.00	\$266.00
	150		\$26,500.00			\$39,240.00	\$279.33
						<u>.</u> .	
FALE 2013	F 47 15 19		A CHEST	or wearlings in	推 定等。	THE WAY IN	INDIVID
SPECIES	QTY.	A VERNOUS AND A	TREES	DELIVERY	PLANT	TOTAL '	TREE COST
2" STATE STREET MIYABEI MAPLE	10	\$185.00	\$1,850.00	\$14.00	\$77.00	\$2,760.00	\$276.00
2" BONFIRE SUGAR MAPLE	10	\$190.00	\$1,900.00	\$14.00	\$77.00	\$2,810.00	\$281.00
2" CRESHENDO SUGAR MAPLE	10	\$190.00	\$1,900.00	\$14.00	\$77.00	\$2,810.00	\$281.00
2" PACIFIC SUNSET MAPLE	10	\$180.00	\$1,800.00	\$14.00	\$77.00	\$2,710.00	\$271.00
2" BRIOTTI RED HORSECHESTNUT	10	\$210.00	\$2,100.00	\$14.00	\$77.00	\$3,010.00	\$301.00
2" COMMON HACKBERRY	10	\$180.00	\$1,800.00	\$14.00	\$77.00	\$2,710.00	\$271.00
2" KENTUCKY COFFEETREE	10	\$185.00	\$1,850.00	\$14.00	\$77.00	\$2,760.00	\$276.00
2" GOLDEN RAINDROPS CRABAPPLE	10	\$150.00	\$1,500.00	\$14.00	\$77.00	\$2,410.00	\$241.00
2" RED JEWEL CRABAPPLE	10	\$150.00	\$1,500.00	\$14.00	\$77.00	\$2,410.00	\$241.00
2" IVORY SILK JAP TREE LILAC	20	\$190.00	\$3,800.00	\$14.00	\$77.00	\$5,620.00	\$281.00
			,			,,	

SUBURBAN TREE CONSORTIUM 5-YEAR ORDER

	SOBORAL TREE CONSCIENCE TO THE CONSCIENCE OF THE									
* 2" TRIUMPH ELM	10	\$175.00	\$1,750.00	\$14.00	\$77.00	\$2,660.00	\$266.00			
2" COMMENDATION ELM	10	\$175.00	\$1,750.00	\$14.00	\$77.00	\$2,660.00	\$266.00			
	140		\$23,500.00			\$35,330.00	\$270.62			
SPRING 2014 TREE SPECIES	QTY.	COST :	TREES	DELIVERY	PLANT	TOTAL	INDIVID TREE COST			
2" AUT BLAZE FREEMAN MAPLE	10	\$160.00	\$1,600.00	\$14.00	\$78.00	\$2,520.00	\$252.00			
2" MARMO FREEMAN MAPLE	10	\$160.00	\$1,600.00	\$14.00	\$78.00	\$2,520.00	\$252.00			
2" STATE STREET MIYABEI MAPLE	10	\$185.00	\$1,850.00	\$14.00	\$78.00	\$2,770.00	\$277.00			
2" BONFIRE SUGAR MAPLE	10	\$190.00	\$1,900.00	\$14.00	\$78.00	\$2,820.00	\$282.00			
2" CRESHENDO SUGAR MAPLE	10	\$190.00	\$1,900.00	\$14.00	\$78.00	\$2,820.00	\$282.00			
2" PACIFIC SUNSET MAPLE	10	\$180.00	\$1,800.00	\$14.00	\$78.00	\$2,720.00	\$272.00			
2" BRIOTTI RED HORSECHESTNUT	10	\$210.00	\$2,100.00	\$14.00	\$78.00	\$3,020.00	\$302.00			
2" AUT BRILL SERVICEBERRY	10_	\$200.00	\$2,000.00	\$14.00	\$78.00	\$2,920.00	\$292.00			
2" EUROPEAN HORNBEAM	10	\$190.00	\$1,900.00	\$14.00	\$78.00	\$2,820.00	\$282.00			
2" AMERICAN HORNBEAM	10	\$190.00	\$1,900.00	\$14.00	\$78.00	\$2,820.00	\$282.00			
2" COMMON HACKBERRY	10	\$180.00	\$1,800.00	\$14.00	\$78.00	\$2,720.00	\$272.00			
2" RIVERSII EUROPEAN BEECH	10	\$240.00	\$2,400.00	\$14.00	\$78.00	\$3,320.00	\$332.00			
2" KENTUCKY COFFEETREE	10	\$185.00	\$1,850.00	\$14.00	\$78.00	\$2,770.00	\$277.00			
2" BLACK TUPELO	10	\$200.00	\$2,000.00	\$14.00	\$78.00	\$2,920.00	\$292.00			
2" SWAMP WHITE OAK	10	\$200.00	\$2,000.00	\$14.00	\$78.00	\$2,920.00	\$292.00			
2" ENGLISH OAK	10	\$200.00	\$2,000.00	\$14.00	\$78.00	\$2,920.00	\$292.00			
2" IVORY SILK JAP TREE LILAC	20	\$190.00	\$3,800.00	\$14.00	\$78.00	\$5,640.00	\$282.00			
2" FRONTIER ELM	10	\$175.00	\$1,750.00	\$14.00	\$78.00	\$2,670.00	\$267.00			
2" ACCOLADE ELM	10	\$175.00	\$1,750.00	\$14.00	\$78.00	\$2,670.00	\$267.00			
	200		\$36,300.00			\$53,780.00	\$281.47			